F2R AHEKHRLSEBH
IR IE |
Hls—, = AERHES

¥ S5 0A P34
WABEBKREEHEN, Mk
MU TEHEIRF: ()T, B3R
%, BEMRE:; QFRREHE, \NE
AT QWEHES, LMFES
NHIEZE, #DFES. PHFES. K
& SRIKFAT
Hl1 HHE:




1
(1)5—3+2 x;—|—2|3+[ 2];

2)
Lo.sur[_;]z |—22—4[ [21]2
16]
27 =—0.12.

Ret 4 T iz Qs A, HEHE
.

_s_31_
: ORERAK=5 ZXZ

8§ X(—2)

—5—3 1 16=21—3=120l.
=5—+16=21—,=20 ;



-
[\
-’
ST
2
|

1 81 16]
1 %
L10]2=[ 81167 27/% 100

=(—8+3)X100=—5X100

—3500.

Z a8l 1

ZieR RABEIMFNS
BEEIRMEGR
EHTA BB SEHEN, &
A] DUAF 40 WL 22 7+ 1) 25 B0 8] )
K&K, BHBHEBEER, IREBHE




57, REFHWIEE. etz
B, OB RN R T H D
W, BiEITHREG . RKRFE
B, T8, mRFEEHEH
fiE4T, AR, RA %
B — B HIMFr MRS ITIE, 46
RUEIZHE R IEW.

Bl2 #HH: 1)—2 x;+[_;]

X2

@)= 14— X [2—(=3).

- (1))7?23E=—2><%><(—



2) X2=4;
(2)):?:3@=—1—%><(2—9>=

1 7_1
—1——X(—7\=— —=
1 p (—7) 1+6 p

AR: ERERBREEZHEF,
BREREHEITF, # REERTK
FeHERNFET.




